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JAVA 8 MOCK TEST

This section presents you various set of Mock Tests related to Java 8. You can download these sample
mock tests at your local machine and solve offline at your convenience. Every mock test is supplied with a
mock test key to let you verify the final score and grade yourself.

JAVA 8 MOCK TEST

Q 1 - Which of the following functional interface represents an operation that accepts a single int-
valued argument and returns no result?

A - IntConsumer

B - IntFunction<R>

C - IntPredicate

D - IntSupplier

Q 2 - Which of the following functional interface represents a function that accepts an int-valued
argument and produces a result?

A - IntConsumer

B - IntFunction<R>

C - IntPredicate

D - IntSupplier

Q 3 - Which of the following functional interface represents a predicate (Boolean-valued function)
of one int-valued argument?

A - IntConsumer

B - IntFunction<R>

C - IntPredicate

D - IntSupplier

http://www.tutorialspoint.com
http://www.tutorialspoint.com/java8/java8_mock_test.htm?min=1&max=25
http://www.tutorialspoint.com/java8/java8_mock_test.htm?min=26&max=50
http://www.tutorialspoint.com/java8/java8_mock_test.htm?min=51&max=75
http://www.tutorialspoint.com/java8/java8_mock_test.htm?min=76&max=100
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);


Q 4 - Which of the following functional interface represents a supplier of int-valued results?

A - IntConsumer

B - IntFunction<R>

C - IntPredicate

D - IntSupplier

Q 5 - Which of the following functional interface represents a function that accepts an int-valued
argument and produces a double-valued result?

A - IntToDoubleFunction

B - IntToLongFunction

C - IntUnaryOperator

D - LongBinaryOperator

Q 6 - Which of the following functional interface represents a function that accepts an int-valued
argument and produces a long-valued result?

A - IntToDoubleFunction

B - IntToLongFunction

C - IntUnaryOperator

D - LongBinaryOperator

Q 7 - Which of the following functional interface represents an operation on a single int-valued
operand that produces an int-valued result?

A - IntToDoubleFunction

B - IntToLongFunction

C - IntUnaryOperator

D - LongBinaryOperator

Q 8 - Which of the following functional interface represents an operation upon two long-valued
operands and produces a long-valued result?

A - IntToDoubleFunction

B - IntToLongFunction

C - IntUnaryOperator

D - LongBinaryOperator
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Q 9 - Which of the following functional interface represents an operation that accepts a single
long-valued argument and returns no result?

A - LongConsumer

B - LongFunction<R>

C - LongPredicate

D - LongSupplier

Q 10 - Which of the following functional interface represents a function that accepts a long-valued
argument and produces a result?

A - LongConsumer

B - LongFunction<R>

C - LongPredicate

D - LongSupplier

Q 11 - Which of the following functional interface represents a predicate (Boolean-valued
function) of one long-valued argument?

A - LongConsumer

B - LongFunction<R>

C - LongPredicate

D - LongSupplier

Q 12 - Which of the following functional interface represents a supplier of long-valued results?

A - LongConsumer

B - LongFunction<R>

C - LongPredicate

D - LongSupplier

Q 13 - Which of the following functional interface represents a function that accepts a long-valued
argument and produces a double-valued result?

A - LongToDoubleFunction

B - LongToIntFunction

C - LongUnaryOperator

D - ObjDoubleConsumer<T>
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ANSWER SHEET

Question Number Answer Key

1 A

2 B

3 C

4 D

5 A

6 B

7 C

8 D

9 A

10 B

11 C

12 D

13 A


